2-1 Bfero57

[1] f(0) =—22+43, g(x) =—2"+2x+212BVT, ROEZRD &,
1 f@) @) f(=2) @) fla—2)
4) 9(=3) ) g(—a) 6) gla+1)

<

(
(

Q

RDOEZEIIDONVT, y & x DRATRY, /2, x DEBERY,
1) 1TOEIMN xcm DI FEDOREREE ycm? LT 5,
2) FRHEAKkm CxREIRS A 7 UL XDETEREZ ykm 295,

3) FFEM30cm THIEAMICBWT, 1 LOEY% xcm, HER ycm® 275,

[3] L REIHK f(x) =ax+bI12DWT, f(=2)=4, fQ)=-1THoLE, Ea bOfEZ
2&&)&0

RAE y=2x+a (—4<x<b) DIEEMN —5<y<7T LB LS5 a, b DiEERD L,




2-1 Bfero57

AR y=ax+b (—1<x<5) DEEMN —3<y<9 L2 LD RE M a, b DEEZRD L,
=72, a<0 953,

[6] B y=ax+b (—1=x=2) DB —T<y<8 L7035 k5 REM a, bDIEEZRD X,

<SHDSYMNZY >

Ve




